Policies to Protect Suppliers and Workers
Starter: Recap Question
Instructions: Test yourself with the below quick question
What is meant by a monopsony?
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
How might a firm having monopsony power affect its suppliers/workers?
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..

Presentation 1 - Nationalisation
Complete the activities below so as to have a complete set of Notes:
Definition: Nationalisation
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..

Key Notes: Aim of Nationalisation
To reduce remove firms’ market power to exploit consumers by::
1. Removing shareholders and their profit motive
2. Taking control of and subsidising natural monopolies
Notable examples: RBS, Student Loan Company, Network Rail
Elaborate: On the below advantages of Nationalisation (drawing diagrams as necessary).
Allocative Efficiency
…………………………………………………………………………………………
…………………………………………………………………………………………
…………………………………………………………………………………………
…………………………………………………………………………………………
…………………………………………………………………………………………
…………………………………………………………………………………………
…………………………………………………………………………………………
Positive Externalities
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Reduced Moral Hazard
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Industrial Relations
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Government Investment
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..

Elaborate: On the below disadvantages of Nationalisation (drawing diagrams as necessary)
X-inefficiency
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Government Spending
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..

Variety
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Innovation
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..


Match up: Match the evaluative comment to the relevant elaboration.
	Needs public support
	
	If the business was highly allocatively efficient when owned privately, maybe as it was in a contestable market, there will be limited welfare gains to be made nationalising the firm.

	Need to ensure nationalisation does not just enrich a few rich insiders
	
	If the private enterprise had already faced competition when part of the private sector, transfer of ownership merely replaces a privately owned competitive firm with a publicly owned firm, require government financial support.

	Effectiveness depends upon current efficiency level
	
	Assets should be acquired at a competitive price. Otherwise, government may overpay for the firm. There will be an opportunity cost to this spending, and welfare may not be maximised.

	Effectiveness depends upon nature of the business
	
	Governments look to ensure that their policies are popular so as to maintain power. If the government believes that the public, rightly or wrongly, disproves of nationalising a firm or industry, then they are unlikely to go ahead with the acquisition.
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Instructions: 
· Read, highlight and annotate the article
· Complete the table of pros and cons
· Discuss your answers as a class
Article
A look at eye-catching policy ideas that are often talked about but never seem to feature in UK general election campaigns.
The background
Britain's railways were nationalised by Labour in 1948 and returned to private hands by John Major's Conservative government in 1993. Labour was initially committed to renationalisation but the policy was dropped when Tony Blair came to power in 1997. Track, signalling and stations were taken out of private hands, and put into a not-for-profit company, Network Rail, after the collapse of Railtrack in 2002. Labour has yet to reveal its transport policies for the next general election, but they are not thought likely to feature rail nationalisation. Green Party MP Caroline Lucas has launched a private members' bill to allow the train companies to "fall back" into public ownership, which is supported by a number of Labour backbenchers and Plaid Cymru MPs. The train companies insist the debate about nationalisation is solely driven by the unions.
Ian Taylor: The case for nationalisation
In 1993, Britain's railway was broken into pieces and handed, mostly as local monopolies, to profit-taking companies. The cost of the railway to the taxpayer has subsequently more than doubled in real terms, a rise out of all proportion to the 33% increase in train services over the same period. The cost rises stem from wastage as shareholder dividend pay-outs, other inefficient private sector financing and inefficiencies created by fragmentation of the railway.
The wastage amounts to over £1bn per year, enough to cut fares by 20% if the railway were reunified as a public company. Instead, fare increases on the privatised railway threaten to turn it into a "rich-man's toy", as this government's first Secretary of State for Transport put it. Unbeknown to most passengers, one portion of our railway, the East Coast mainline, is still run by a publicly-owned company, Directly Operated Railways, which picked up the pieces after its two private sector predecessors walked off the job. Recent calculations by the Office of Rail Regulation revealed how the public money that helps maintain the rail tracks or directly supports rail services splits between the train companies and showed that DOR receives less subsidy than any other rail franchise operator. DOR's success is a glaring embarrassment for the Government, who now intend to privatise it post-haste, even though that will increase costs to the taxpayer. Most other rail franchises in the UK are, ironically, also run by companies that are wholly or partly publicly owned, but by other countries. Deutsche Bahn is foremost - they even run the Royal Train - and the German Government have said "We're skimming profit from the entire Deutsche Bahn...it is invested in the rail network here in Germany". So, if you are reading this on an overcrowded train with a ticket that made a painful hole in your wallet, take heart from your generous contribution to improvement of Germany's fine publicly-owned railway.
Ben Southwood: The case against nationalisation
The UK's railway network was built privately and competitively and by some way its most successful years were the private eras between 1830 and 1922 and 1994 to the present. Returning it to centralised state control would be a step backwards and a mistake. Instead we should end the practice of franchising, which creates private monopolies, and allow real competition and diversity. 
Our system began with the first steam train in 1825, and despite costly government licenses, investors built the bulk of today's network (about 6,000 of approx 11,000 miles) in just three or so years, between 1844 and 1846. Journeys rose to from about 500 million a year in the 1870s to 1.5 billion just before the First World War. After the war, David Lloyd George judged that rail firms profits were too low due to too much competition, and decided to merge nearly all the UK's railway firms into just four firms, practically monopolies.
Between 1923 and 1947 the so-called Big Four government-supported firms ran the roost and journeys fell to about 1.2 billion by the onset of the Second World War. After the war, these and others were consolidated further into British Rail. Under British Rail, there were steadily fewer and fewer journeys per year—from around 1 billion in 1948 to only 750 million by 1995, just before the onset of the franchising system. Now there are deep flaws with franchising, and undoubtedly it has been lucky, coinciding with higher congestion, fuel prices, and a renewed rise in London as the UK's economic centre. But the sharpness of the change since 1995 is undeniable. Since then journeys have spiked dramatically, rising every year to close on the 1.5 billion not seen for almost a century.
The solution to our current problems is not more state bungling, it is a return to diversity, competition and open markets.
Table
	Pros of Nationalisation
	Cons of Nationalisation

	
	


Presentation 2 - Government Intervention for Monopsony
Complete the activities below so as to have a complete set of Notes:
Definition: Monopsony (recap)
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
They are profit maximisers, who aim to minimise their costs, by paying their suppliers the lowest price possible, i.e. below the competitive rate.
There is a DWL and scope for the government intervention to improve welfare.

Elaborate: On the below interventions that could be used in the event of monopsony 
Regulation: Creating a specific regulator to monitor the activities of monopsonies.
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
	However
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Preventing mergers: If the competition authorities can prevent the formation of large firms through mergers, then this can reduce monopsony power
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
……………………………………………………………………………………………………………………………………………………………………………………..
Minimum Wages: Governments can enforce minimum wages that may be above the wage offered by a profit maximising monopsony
……………………………………………………………………………………………..
……………………………………………………………………………………………..
……………………………………………………………………………………………..
……………………………………………………………………………………………..
……………………………………………………………………………………………..
……………………………………………………………………………………………..
……………………………………………………………………………………………..
However: The new minimum wage is set on a national scale, rather than specific to the monopsony
Micro U6th		Workbook	Name………………………..………….


Find more resources at www.smootheconomics.co.uk
It may be too low and fail to reduce the DWL
Or too high and lead to government failure and a worse DWL












Assignment
Section A (Short Answer Questions)
1. Which of the following reasons is often used to support a policy to nationalise certain industries?
[1]
A	Shareholder profits are too low
B 	Few economies of scale exist in the industry
C 	Economies of scale are so large that the industry is a ‘natural monopoly’
D 	It is expensive and inefficient to establish a bureaucracy of civil servants to run the industry


2. Government restrictions on monopsony power of firms may:
[1]
A 	Reduce the prices paid by consumers. 
B 	Protect suppliers and employees from market power. 
C 	Increase allocative efficiency.
D 	Result in regulatory capture.

Section B (Data Response)
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Questions
Assess whether complete nationalisation of the rail industry might protect employees.
[10]
	Planning Grid: Aim = 4 paragraphs - 2 KAA points (6); 2 Eval points (4)

	KAA Point 1 = signpost key point
	

	Application
	

	Main concept & diagram




	

	Eval Point 1 = relate to your earlier point & re-read the title
	

	Context / evidence
	

	KAA Point 2 = signpost key point
	

	Application
	

	Main concept & diagram




	

	Eval Point 2 = relate to your earlier point & re-read the title
	

	Context / evidence
	


Question: Assess whether complete nationalisation of the rail industry might protect employees.		[10]
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Extract A

The case for nationalisation

Privatisation has not made the rail industry cheaper to operate, despite the promise
from one government source that it would see private companies bringing: “more
competition, greater efficiency and a wider choice of services”.

One reason, suggest the critics, is fragmentation. Instead of pushing British Rail into
the private sector as a single supplier the government chose to break it into three
components of track, train operators and rolling stock i.e. the trains and carriages. This
has encouraged each part of the rail industry to prioritise its own profits rather than
collaborating to improve the system.

Privatisation, meanwhile, never really worked. The rail network of 2500 stations and
32000km of tracks was renationalised in 2001. This has encouraged the government’s
transport secretary, a supporter of private sector involvement, to argue that the state
Network Rail monopoly should be removed so that companies can bid to build new rail
lines to upgrade the railway.

The privately-owned train operators are now the subject of fierce criticism, due to
overcrowding and cancelled services. Private companies are supposed to compete to
win a bid to be the train operator for a region for a short number of years. However in
recent years the number of private companies bidding or renewing their contract as

rail operators has fallen. In May 2018 the government rescued the East Coast line by
renationalising it. The line had been run by the private rail operator Virgin Rail, which was
suffering lower passenger numbers and revenue than forecast.

Some argue that there is a simple solution: reunite track and train in the only feasible
manner, nationalisation.

(Source adapted from: httns://www ft.com/content/d82848ca-f7ba-11e7-88f7-5465a6¢e1a00)
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ExtractB
Southern Rail boss paid £495000

The Chief Executive of Southern Rail, the private-sector train operator that has become
associated with delays, losses, cancellations and strikes, was paid £495 000 last year. This
increased calls for nationalisation and a maximum wage for executives at companies
with government contracts. In contrast the average base pay for a train driver in the UK is
£47705, although they can earn up to £63000.

Nearly a third of Southern Rail trains were late in 2016 as it tried to deal with a labour
dispute that involved extensive strike action. The rail trade unions are opposed to
planned changes to the role of train guards, which they claim will put passenger safety
atrisk.

(Source adapted from: Rob Davies, The Guardian 10 April 2017
https://www.theguardian.com/business/2017/apr/10/southern-rail-boss-double-pay-rise)
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